
ASSEMBLY INSTRUCTIONS

Deluxe Serving Shelf PART #309691

Eagle Foodservice Equipment, Eagle MHC, Level-Lok Inc., and SpecFAB are divisions of Eagle Group. ©2002 by the Eagle Group

• 100 Industrial Boulevard, Clayton, Delaware 19938-8903 U.S.A.  • www.eaglegrp.com • Phone: 302/653-3000  • (Fdsrv) 800/441-8440  • (MHC/Retail) 800/637-5100  • Fax: 302/653-2065 or 302/653-3036
EG9954 Revised 05/02

With the stainless steel top upside down, line up 1⁄4-20 weldstuds with holes provided on stainless steelsupports . Once in place, secure same with 1⁄4-20 lock nuts.
Note: There is a right and left support.

1 Supports

Once end supports are assembled to stainless steel top, flip upright. Position acrylite panel so that the holes(on the acrylite) match the holes provided in the stainless steel end support. Secure acrylite panel to the endsupports with the black thumb screws.
2 Acrylite

On an Eagle hot food table, looking at the ends, remove the 2 front most screws. Once the screws areremoved, place the deluxe serving shelf on the hot food table. Line up the end support holes with the holes onthe table top flange. Once in place, replace screws into original holes.
Note: Make sure the acrylite faces the customer side.

3 Assemble to Table

Parts List

1. . . . 303533 Top Panel

5. . . . 300518 Lock Nut 1⁄4-20

1. . . . varies by size Acrylite

4. . . . 301192 Screw 10-32 x 5⁄8

4. . . . 301571 Nuts Hex 10-32

1. . . . n/a Left End Panel

1. . . . n/a Right End Panel

4. . . . 301192 Thumb Screws

qty part # description    


